SuMPO EPD SUMPORIESAINTOI5 s

SE"MFP;)D - — R EE AT AT IR H
.. D S4FNBBES (EPD) AT KA A 1-14-8
VERIFIED KANDA SQUARE GATE

Bi#x&EFS ¢ JR-AI-25207E https://ecoleaf-label jp

FUJIHILM

Value from Innovation

BEO1IL EVRR A/N=Ya R E "
FUJIFILM Business Innovation Corp.

A3 HS—1EEH
A3 Color Multifunction Printer

ApeosPort-VI C2271 (Model-PFS)
(for JP)

Jl

o ] o ]
Biff(&ApeosPort-VI C3371 TIH., ERIFApeosPort-VI C2271 EEIFENTUVET,

Apeos. Apeos 0. ApeosPro. ApeosPort . $&U ApeosPrint (&, ELIAIVAES KRS IR IR S OEREIZE(SEETY,
Xerox, Xerox 0T, B&UFuji Xerox OJ(&, RKECOVI A OEIREEEEIEECTY .

BEEHEM EHRES JR-AI-25207E
EHPCRES B} Al
WL EkY PA-590000-AI-08
PCR% ERA H B2
BENRERE A 2026518230
WS REf O Ef HIFEHEE  2025%1282R
OEMEEE Q4 E Q@i OFER - #iF RIAAFR YAT LRI A=
®FEZE-UY1I)l RIIES 2025-FB-EL-062
HWAIEZEAR 203012818
HROBR, TEMLEK-FET PCRLE1-DETE
B : ApeosPort-VI C2271 (Model-PFS) HEAZ% 20234 98 18
FELKR N5-EEHE EPAR) £E8E w5 B2
ENRIEEEE : /70 25ppm (A4 LEF) (B — M EIEAY AT F IR & HEE 1)
15— 25ppm (A4 LEF) BETHBRIE BE AT
BARBEEYIX : SRA3(320x450 mm). NEPIEEEE
12x18"(305%x457 mm). A3
FYY/AC=/AF VI /FAX ISO14025(C > A B E R UT =5 DIRIL LIAREE
) T I R M e /ADF (SR 78 B Eh 55 3A ) OREB WAL 5B
*YAF LRI B ELANORIOE AL, YATLARIETLEEED
LR,

MuehtsEe BEIAMIVALAESHRAAIR—3 > REtt
waEmAXAREHFSV6T B1E
https://www.fujifilm.com/fb/

E5&ES ¢ JR-AI-25207E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO SuMPO EPD SUMPOREESANI 0T T A

E p D et — A FR A AT F IR S
| "7 F14TIRIREE (EPD) HFHF KERAME-14-5
NERAGEED KANDA SQUARE GATE
BRES JR-AI-25207E https://ecoleaf-label jp
F1THM VLSS R
s . . fEFR - HEFF
FRRIAERRE | BUSERRE TR e BEEEER B
SUREE) - &5 kg-CO.eq 9.05E+02 2.50E+01 5.27E+01 7.89E+01 1.52E+02
IV EHIE kg-CFC-11eq 6.51E-05 3.55E-08 2.69E-08 1.49E-06 3.32E-08
EXREL kg-PO43-eq 1.46E-02 2.05E-06 1.87E-04 1.16E-03 1.83E-04
[i7qc 2|4 kg-SO2eq 2.31E+00 1.65E-01 6.54E-02 3.73E-01 1.65E-01
HALREAFII U kg-CzHaeq 1.80E-02 4.05E-05 4.40E-04 6.67E-04 1.29E-03
FEYMEREE - 1LY kg-Sbeq 8.42E-01 9.09E-05 1.36E-05 1.15E-02 3.20E-05

F1THLIIWAIRY B 3 IRESE R R

—REBRDERICET2151Z
o . . R - HER
FRRFERR | LSRR TRIBERRE 2 E’LK:‘ 5 FEZEERBE
"X

BHATRE—RER - IRIF- (RPRy) MJ 1.74E+03 2.08E+02 9.75E+00 4.07E+02 7.21E+01
BAETE—RERE - IRVE-2EHE (RPRy) M) 1.42E+01 3.41E-03 2.52E+02 6.52E+02 1.36E-02
FEBAAIBE—RER - TRIF— (NRPRp) M) 1.46E+04 8.53E+02 6.08E+02 1.96E+03 8.40E+02
JEFE T —REE - TALE-2BHE (NRPRy) M) 1.75E+03 2.62E-01 2.99E+00 8.98E+01 1.76E-01
WIKDHEE m3 4.32E+00 1.08E-02 2.65E+01 6.86E+01 1.29E-02

BERRICRAT2EMER
-BAZEAGEELTEELELE,
EEHEPAR)DIZEYFTUATEELTVET,
W ROEEEARMESERMTT,
(EA ISR B LB RENRI RO B S ENE A,
(ERBOEN . IRINF-25-T0TF LVer3 28 (SR> TCHE LETECIEZ TICEELELE,
- R EENRIMER (L, 90,0000 T,
1/4x 25 (Y37/B)x 12 (%) x 5 (B) x4 (@) x 12 (7 B) x 5 (4F) = 90,0001%

Z Db DIRIEFDEIEIR
IRINF-RF-T0Y5LVer3.2 BE,

MRBSUMEICRY 8RS FEVEICETSIER

- ME (ERES) By 1HE CAS No. ERE
& 62 kg - - _
sus 1.1 kg - _ Z
TIEZIA 0.83 kg
ot 99 k| ]
II2F797 42 kg | |BEfIE, LCIF-IX~RIDEA Ver3.4, SUMPORETNLTOIT LB ET 5
di 0.24 kg Ver1.16&EALTVET,
H52 1.9 kg
A 17| kg
HL&E [ FEEAR 43 kg -
pa i 6.3 kg
Z0fts 5.6 kg

@T-YEEDHEL. PCRELUVEE - ESHREESBL TR,
OLLRIIOVTR, BE - EERBICREINLRGLRLLIISEICLIARYONE A,
(BEBSURL : https://ecoleaf-label.jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

